



Sumes

$2 + 3 =$

$2 + 6 =$

$2 + 9 =$

$2 + 5 =$

$2 + 3 =$

$2 + 5 =$

$2 + 4 =$

$2 + 9 =$

$2 + 6 =$

$2 + 7 =$

$2 + 5 =$

$2 + 0 =$

$2 + 4 =$

$2 + 7 =$

$2 + 3 =$

$1 + 6 =$

$1 + 9 =$

$1 + 7 =$

$1 + 3 =$

$1 + 1 =$

$1 + 8 =$

$1 + 4 =$

$1 + 5 =$

$1 + 6 =$

$1 + 0 =$

$1 + 2 =$

$1 + 3 =$

$1 + 5 =$

$1 + 8 =$

$1 + 7 =$

$3 + 3 =$

$3 + 6 =$

$3 + 9 =$

$3 + 2 =$

$3 + 8 =$

$3 + 7 =$

$3 + 3 =$

$3 + 5 =$

$3 + 4 =$

$3 + 0 =$

$3 + 3 =$

$3 + 6 =$

$3 + 7 =$

$3 + 2 =$

$3 + 0 =$

$4 + 2 =$

$4 + 5 =$

$4 + 1 =$

$4 + 3 =$

$4 + 8 =$

$4 + 7 =$

$4 + 9 =$

$4 + 6 =$

$4 + 5 =$

$4 + 7 =$

$4 + 4 =$

$4 + 9 =$

$4 + 2 =$

$4 + 1 =$

$4 + 7 =$

Operacions ben fetes en 2 minuts: _____